MCHX %5 V

HEIEITH T mindman

Tk

® SREEEHIEIEL T o ISR TRE A B i S T -

® SSHRAERS BN - [F]IRF ity By PUAR L - DX Bl — ke AR
D HCRF B ©

o AL 0 MatHES - R B RS - R AR
1 DIIEIREEHEA

® 2 A5 ] e A RS -

® R AT -

Hirg -

HU5R MCHX
{EE A =0 wEE
SKELAEE (mm)| 10 16 20 25 32
{782 (mm) | 20,40,60 | 30,60,80 | 40,80,100 |50,100,120|70,120,160
i F A 225,

= 5 FH RR J J i ] 0.2~0.6 MPa

STHECH% -

AT e i —5'C~+60C (Fuiks)
MCHX — 1 6 — 30 M FETH (1) TR
_'7 EHAERE +0.1 mm

T BRESS (3%2) RK : 5822, RKN : NPN, RKP : PNP
Blge REIRE 1792 M : [REE . AR BN 43 E RS T I .
10 3 ABAERY W2 SRR 2 5-13H -
16
20
25 =X .
s R :
172 | HE
B (mm) | (ko)
20 0.28
MCHX-10 40 0.35
60 0.43
30 0.62
MCHX-16 60 0.8
80 0.94
40 1.03
MCHX-20 80 15
100 1.69
50 1.69
MCHX-25 | 100 2.8
120 3.0
70 3.15
MCHX-32 | 120 4.36
160 54

AW mindman



MCHX wifhsid R EEE V

BEISFITHWM T mindman

e

=

i X@* ' \ N
U T &&] U |J
ﬁ?i«- —
] U] in ]
| | W
WA
FEEME
No. el &
1 N} s
2 | K $REE
3 | EFEAR BN
4 | Bk BN
5 | FEhEER sl
6 | HinE sl
7 | vl BN
8 | THEA =]
9 | B i
10 | Rkl Fia e
1| EEERA I
12 | R ANEF S
13 | Wik aayy)
14 | #p R
15 | #iE HeME
16 | BAERIZIE sl
17 | RAEGIER Tl
18 | i =)
19 | g s s
20 | mgEmEhR NBR
21 | EEAEER NBR
22 | EIEMTEEBR NBR
23 | sy NBR
24 | EZERp- NBR

/M|Mindman



MCHX HBIRSE $10-¢32

BEIE 1T T mindman

i i 72| A|B|D|E|F|G|MmM|P1|P2
r 9 20 | 76 | 56100 26| 36| 51 38|12 12
MCHX-10 | 40 | 118 | 78 |142| 42| 52| 67 | 54(19.5 |19.5

60 | 156 | 96| 180| 60| 70 | 85| 72|28.5 (285
f} . 30| 98| 68[128| 28| 45| 60| 40[14.4 [14.4
,:i

MCHX-16 | 60 [ 170 [ 110 [200| 58| 75| 90| 70[29.4 [2904
80 [ 210 [ 130|240 78| 95| 110 | 90[39.4 [30.4
2-TTXTA B E 40 [122 | 82|160| 38| 58| 71| 54|16.9 [16.9

""{Hﬁm\
(A MCHX-20 | 80 | 222 [ 142 [260| 80 |100 | 113 | 96|34.4 |34.4
100 | 262 | 162 | 300 | 100 | 120 | 133 | 116 |44.4 |44.4
50 | 150 | 100|196 | 48| 70 | 88| 6|23 |23
G MCHX-25 | 100 | 282 | 182 [ 328 | 102 [ 124 | 142 [ 12050 |23
120 | 320 | 200 | 366 | 120 | 142 | 160 | 138 |59 |24
2- MM E SRS XRA & 70 | 220 [ 150 [272| 60| 86| 110 | — |28 |28
(AHEZEEEAL) MCHX-32 [ 120 | 318 [ 198 [370| 108 [ 134 [ 158 | — [52 |52
5 160 | 402 | 242 | 454 | 152 | 178 [ 202 | — |74 |74
5]
>
S
6 RR X RA % 4-SS X SA P
(ZEHENRF)
& PP X PA 2%
D
H
uu uu
tEEAL (D P2 | P1 HEEIL B Fl 5
2] ) | 5 i
> €
x { (-
% S K
+ <
— i — ©
s —1 n o {}
— L
] L] = /)
N B (EH) N 2x2-00 :
z A (i) z L
gﬁ H|K|L| N |MM|PA|PP|P3 QQ R |RA|RR|RS| S |SA SS T|T1|TA TT uu
MCHX-10| 44| 20| 34| 7 |45|15|18| 9 |M4x07 |15| 3| 3| 3 |34| 8|Max07 |31| 9 | 5| M4x07 | M5x08
MCHX-16 | 55| 25| 44| 9 [55[1.5[23[10 [m5x08 [19| 3| 3| 3 [42|10|msx08 [40[10 | 7| M5x08 | M5x08
MCHX-20| 65| 30| 54 |12.5| 6.6 | 15| 24 |11 |M6x1.0 |24| 4 | 4 | 4 |52 12|M6x1.0 |46 |11 | 7| M6x1.0 | M5x0.8
MCHX-25| 76| 40| 64|14 | 9 [15|32[205|M8x1.25[20 4 | 4 [ 4 [62|16|mM8x1.25|53 [125| 7| mMex1.25 | M5x0.8
MCHX-32| 82| 50[ 70|15 | - [15|35[16 [M10x15([32| 8| 6| 6 [64|16|M8x125[68 |22 |11] Mex125| Recis
o
o Jviw][x]y]z
MCHX-10| 46.5| 7|30.5| 6| 10
MCHX-16 | 59 8|39 8|13
MCHX-20| 70 |10[45 | 10|17
MCHX-25| 81 |12[51 [ 1222
MCHX-32[ 100 |15|67 | 16| 24

/M mindman



	1_規格
	2_內部構造及主要零件
	3_外觀尺寸

